	Generic 3-point Reading Rubric 
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	The response: 
• gives sufficient evidence of the ability to [fill in with key language from the intended target] 
• includes specific [inferences, opinions, identification, etc.] that make clear reference to the text 
• fully supports the [inferences, opinions, identification, etc.] with clearly relevant [details, examples, information] from the text 
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	The response: 
• gives some evidence of the ability to [fill in with key language from the intended target] 
• includes some specific [inferences, opinions, identification, etc.] that make reference to the text 
• adequately supports the [inferences, opinions, identification, etc.] with relevant [details, examples, information] from the text 
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	The response: 
• gives limited evidence of the ability to [fill in with key language from the intended target] 
• includes [inferences, opinions, identifications, etc.] but they are not explicit or make only vague references to the text 
• supports the [inference, opinion, identification, etc.] with at least one [detail, example] but the relevance of that [detail, example] to the text must be inferred 


	0 
	A response gets no credit if it provides no evidence of the ability to [fill in with key language from the intended target] and includes no relevant information from the text. 
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